Geometry Name:

12.1-12.2, 12.5 Study Guide Due Tuesday, February 20th
12.5.0 Learning Target: (dentify center and vadil of clreles glven a standard equation of a
clrele.
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I Center: U/\ L K‘) Radius: I~ II
1. Write the equation of a circle with a center 2. Write the equation of a circle of the graph
at (7, -5) and a radius of 8. below. 17
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3. Find the center and radius of the 4. Find the equation of the circle having
circle (x+2)2 +(y+11)2 =50 center 3 and has a point (-1, -6)
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True or False?? If false, correct the statement! a 8/0
5. The circle x? + y2 = 7 has radius 7. 6.The center of the circle (x — 6)2 + (y + 4)? = 1

lies in the second quadrant.

.
False! r=17 False! TV Quad

7. Thecircle (x +1)2+(y—-4)2 =4 8. The equation of the circle centered at the
intersects the y-axis. origin with _diameter 6 is x2 + y2 = 36.
Drow a~ ool S = (o
- On Ql’(/{ =
P ettt Y&(
rol
12.1.0 Learning Target: ldentify tangents, secants, and chords.
m B == =
1. % Name a chord: i )E 0V BC
Name a tangent: /Q, .
1A Name a radius: A 0V AB
5 Name a secant: )\

o ¢ Name a diameter: '5(‘/



12.1.b Learning Target: Use properties of tangles to solve problems.

2. Write the equation of the tangent line.
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4. In the diagram below, GH and GI
are tangent to ©J. Find GH.
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6. Given the ray is tangent to circle O, find x.
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Line RT is tangent to circle Q. Find ST.
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Lines PR and PS are tangent to circle Q.
Find 2P.
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7. The circle is inscribed in the triangle. Find
the perimeter.
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12.2.0 Learning Target: Apply properties of ares.
8. Find mIK and mJIL. 9. Find mVUX

5°:
J v

K

/ 60500 |, MI/K\: QO‘H,ZO
e/
Yo o
P fvvm/uc:“ao |
| : by=

MPL= w0+K0 G, o X208

ﬁ;ﬁfaﬂwﬁ f_jrﬂﬂui%waag
12.2.b Learning Targe :_/N\A?;F vyy =2 (.0;/ 2

10.  Find WX. N FndCE. (=95
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12. Find CD. 13. Find JL
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